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14 Write 4x” — 12mtandard form. Identify the leading coefficient.
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15. What is the degree of BD
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~ 18.Find the degree of the polynomial 7% 4+ 2x — 9x + 14x — 2. Putitin

standard form. —’//G/iX3 W%

19. Describe 7x — 22" + 3 by the degree and number of t:rnD

Ui Sy Fripoia

—




\w = | Hm

Nam Hour:
- iia = QJ{%

cribe 7 —2 +3 x + 4 by the dg and number ftm N

\/ - @\JZ g _M\.ﬁ JTCW
e Ly Gy
o)c& DAL

21.Describe 3x + 4 by the de g

(\QM

 22.Add 4p’ + 3p j\pf—7
‘ 2:?Add7 —zw— *@ R H%\[‘W

24. Add. (3&/ ——%)\ ()e;_;% [/\ ‘)

@ Subtractv. (J:; “ \
26.Subt.ract.‘(§c; — 2% %%iqa;;g" /Q\KQ“ -
B |

,’; N 4 : |
27\Multiply x 'y and 4x }/\ (\7




i AN,
@ ltiply (x + M) o= XOL ~(/\>< AYgX

L %J
L?;V@L

31. Multiply (x” + 10( + 3)

_L__@\HQ

@Itply@ﬂ)w K,},X M
- [Qx HDX*‘)@\

Dy

£
| 34. Celeste has a garden that has a leng

x — 5feet. What is the area of the garden? A = lw \
3( TAIX

b= %@7) 3¢

ofx + 7 feet and a width of




Name; Hour:

— A3 =3x bR
CI X1 de L2080 by
3L &k

B ST :
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What is the vertex of the quadratic function f(x)? Is it a maximum or a minimum?
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43. Graph the quadratic function f(x) = 2x"
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44. Graph the quadratic function f(x) =— %xz
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45. Use the zero product property to solve the equation (x — 3)(x + 2) = 0
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49. Find the solutions (zeros/x-intercepts) of the graph

50. Find the GCF of the terms of this polynomial 12%° — 4x
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52. Find the GCF of the terms of this polynomial 14x° + 28x — 6
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53. Factor out the GCF. 9x* — 27x° + 81x" =

54 . Factor out the GCF. 2x — 54
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55. Factor out the GCF. 10x” 4+ 55x + 100
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(/J\L\Q 77. Solve (4x — 6)° = 196
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78. What is the Quadratic Formula?
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81. Use the Quadratic Formula to solve x2 —13x +12 =0

82. What is the discriminant formula?

T

83. Use the discriminant to find the number of solutions to the equation y = 9x” — 3x + 2
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84. Use the discriminant to find the number of solutions to the equation y = 9x° + 6x + 1
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85. Use the discriminant to find the number of solutions to the equation y =— 6x° + 7x + 3
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867 The height in feet of a rock above the ground is given by the equation

N =— 16t° + 8t + 48 where t is the time in seconds after-a-rocksis thrown. It is 48 feet
above the ground. How long does it take the rock tofeach the ground?
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Q\L\Q 87. The height in feet of a rock above the ground is given by the equation

h =— 16t> + 4t + 56 where t is the time in seconds after a rock is thrown. It is 56 feet
above the ground. How long does it take the rock to reach the ground?
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)‘ 90. Solve 2x° — 32 = 0
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91. Find the median of the data: 11/@/}261,2@/56?? O%/?U OOO OI;D D[

92. Find the mode of the data: 90, 110, 120, 120, 50, 40, 100, 80, 50.
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93. Find the mean of the data: 90, 110, 120, 120, 50, 40, 100, 80, 50. e
94. Find the range of the data: 90, 110, 120, 120, 50, 40, 100, 80, 50. 25
NN
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95. Create a box plot of the data: 90, 110, 120, 120, 50, 40, 100, 80, 50.
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%b\ 96. Find the median of the data: 5, 6,

9,4,3,3,3,2, 4

97. Find the mode of the data: 5, 6, 9, 4, 3, 3, 3, 2, 4.

b

98. Find the mean of the data: 5, 6, 9, 4, 3, 3, 3, 2, 4.
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99. Find the range of the data: 5, 6, 9, 4, 3, 3, 3, 2, 4.
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Create a box plot of the data: 5, 6, 9, 4, 3, 3, 3, 2, 4.

100.
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101. Find the median of the data:{ﬂO, 20/56&(%3(1)5/}9/)0/50/20’ k

102. Find the mode of the data: 10, 20, 50, 40, 10, 30, 10, 60, 10, 50, 20. 7 l
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103. Find the mean of the data: 10, 20, 50, 40, 10, 30, 10, 60, 10, 50, 20.
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104. Find the range of the data: 10, 20, 50, 40, 10, 30, 10, 60, 10, 50, 20.
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105. Create a box plot of the data: 10, 20, 50, 40, 10, 30, 10, 60, 10, 50, 20.
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106. Complete the two-way frequency table:
Like Basketball
Like Track Yes No Total
/W NN
Yes 40 UU 100
No 10 U\D 100
Total 50 \ @ 200
-

107.  Using the two-way frequency table,aboye, how many students don't like basketball

and don't like track?

108. Complete the two-way frequency table:

Like Carrots

Like Apples Yes No Total

Yes % 30 50
No ’9\\9 25 50

Total H % 55 100

109.  Using the two-way frequency table above, how many students like apples and don't
like carrots?
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110.  Based on the graph, what is the best prediction for the average number of emails per
day for a 36 year old.

Emails per Day by Age
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111.  Based on the graph, what is the best prediction for the age of a person who has on
average 30 emails per day?

Emails per Day by Age
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112.  How would you describe the correlation of the scatter plot?
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113.  How would you describe the correlation of the scatter plot?

Scatterplot of Flash Recover Time vs Volts After Flash
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114.  How would you describe the correlation of the scatter plot?
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